






Problems	and	Calculations:	

1. In	a	25-liter	container,	at	25oC,	and	assuming	ideal	gas	behavior,		A	atoms	and
B	atoms	combine	 to	give	AB:	 	A(g)	+	B(g)	Û	AB	(g).	Suppose,	we	put	 into	 the
container	 0.3	 mol	 of	 	 A,	 	 0.38	 mol	 of	 B	 and	 0.02	 mol	 of	 AB.	 After	 reaching
equilibrium,	only	0.03	mol	of	A	 is	 left.	Assuming	a	 standard	concentration	of
0.5	mol/l,	what	is	Kc0?
a. 5113.2
b. 313.86
c. 2197.0
d. 1098.5
e. 511.32
f. 313.86
g. 219.70
h. 109.85
i. 51.132
j. none	of		a)	–	i)
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4. The ratio of a component A to water collected in a steam distillation is 6, when 
the mixture was boiled at 344 K and 75 kPa. If the vapor pressure of water at 
this temperature is 43.2 kPa, calculate the molar mass of A (molar mass of 
water: 18.02 g/mol)

a. 21.31 g/mol
b. 46.08 g/mol
c. 72.21 g/mol
d. 90.42 g/mol
e. 124.82 g/mol
l'.D 146.88 g/mol

g. none of a) - t)
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4. The	equilibrium	constant	for	a	reaction	A	+	B	Û	Y	+	Z	is	0.2.	What	amount	of	A
must	be	mixed	with	4	mol	of	B	to	yield,	at	equilibrium,	3	mol	of	Y?
h. 48	mol
i. 24	mol
j. 16	mol
k. 4.8	mol
l. 2.4	mol
m. 1.6	mol
n. none	of	a)	–f)



5. The Gibbs energies of formation of A(g) and B(g) are 150 kJ/mol and 76 kJ/mol,
respectively. The standard state is 1 bar and 300 K. Assume ideal behavior and a 
reaction A¢> 2B. Calculate the pressure where 50% of A is dissociated.

(v 0.338bar 
b. 0.450 bar 
c. 0.503 bar
d. 0.600 bar
e. 0.802 bar
f. none of a) - e)
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